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Answer all questions: / F4®10 &3E TEA W8S / F YTAES Bl IR (S84

The environment includes
(A) Abiotic factors (B) Biotic factors (C) Both the above (D) None of these

I oreefe Soiwmima e 2 —

(A) SI&T (B) t&= (C) T=32 (D) 97 (FICAIHE, 7T
RITERTT IR AIHA B —

(A) IRF FRE (B) ©ifd® HR® (C) Surfa gd (D) F1 9 A

Which of the following is net an air pollutant?

(A) Smoke (B) Carbon dioxide (C) Nitrogen gas (D) Sulphur dioxide
A I IR T —

(A) G (B) FHA-TR 32T (CO,)

(C) iReBITET ot (D) T ©IR-SIIRT

frrfoRea et @ 9y Ugy® Bisd —

(A) gar (B) BRI TTS IHSS

(C) AZEISH ¥ (D) THR SIS IFHATSS

Which of the following is not a method of water conservation?

(A) Rain water harvesting (B) Ground water extraction

(C) Improving irrigation éfﬁciency (D) Avoiding water wastage

e @A et T i w3 —

(A) TR Raz (B) ©1S% & M@  (C) GT> IT2F T (D) & 96T (@
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ferferiaT 723 g A Sa—akers BT ufdhar g5 —

(A) a8T ST ARe (B) quidt e
(C) B serca! e (D) Ul THUARTHT FHH 714
4. Region where fresh water meets salt water is called
(A) Sea (B) Lake (C) River (D) Estuarine
@ SR [ o @ oo & (I —
(A) 77 (B) =" © 7@ (D) Gz
STl TSt O S AT arier 3 g —
(A) wg= (B) et (C) T (D) FeT
3. Sth June is observed as
(A) World forest day (B) World environment day
(C) World wildlife day (D) World population day
€2 G T TSR el 7 —
(A) T oy T B) A () Ry e (D) e ok e
59 o8 feaw wa g —
(A) fawg 77 fagw (B) fazg yyfaror faew
(C) fawg gyl fegw (D) faeg e faw
6. Noise is measured using sound meter and the unit is
(A) Hertz (B) Decibel (C) Joule (D) Watt
*I% 3! AT S5ia =l sifior 41 2 ¢ 97 9% g —
(A) 2w (B) (SR ©) (D) e,
BoeTl ‘el fieveRr s oifY e vee & —
(A) Hertz (B) Decibel (C) Joule (D) Watt
7. Which of the following is a non-renewable resource?
(A) Coal (B) Forest (C) Water (D) Wild life
=R @Al -Rmaecin 7w 2
(A) FF= (B) &3 (C) & (D) I
I 7 HA TANBIT g FHRT B —
(A) rEaT (B) & (C) urht (D) srsiTg
8. Chipko movement was started to conserve
(A) Forest (B) Grassland (C) Desert (D) Soil
it wrieweterm QS kel ey wwe = —
(A) SRy (B) eref (©) gl (D) =¥
foraer sr=te @ gwarT B @1 Heer anft et Bry —
(W) (B) =TT+t (C) 7oA (D) AreT
g The Taj Mahal at Agra may be damaged by
(A) Sulphur dioxide (B) Nitrogen (C) Hydrogen (D) Oxygen
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(A) T BR-S=2C  (B) Wizt (C) 2EcEIts=
SITRTHAT MUBT AT HEAAS T IRIST e O B/Y —
(A) FTePR—STF—3reRTTE S (B) TEgioTT
(C) ETsRIoH (D) 3refiors

Red Data Book provides data on
(A) Red flowered plants

(C) List of plants and animals
‘(T BB 5 (Red Data Book) @ {8z oy oy —

(A) =T Poige Bfgwn (B) =+ [0e W
(C) ©fem  efior g
S I g% (Red Data Book) ot ey ferRaea Serer fovs —

(D) WR¥Es

(B) Red coloured fishes
(D) Endangered plants and animals

(D) Reiniers Bfgn @ eft

(A) ¥t 551 & drer w % (B) 37T et ATHETY

(C) Sfe aify uggergy (D)Wwweaﬁaaﬁvgg@m%
Ex-situ conservation includes

(A) Zoo (B) Botanical garden (C) Germplasm bank (D) All of these
9B (Ex-situ) ket 11 w1 fgifers 27 —

(A) P (B) Tfgw Ty O erfelemaE (D) GTrE SR
(Ex-situ) EReTor fiys g6 —

(A) Frfamearr B) T79fy ar  (C) o Y (D) Sue &
Energy flow in ecosystem is

(A) Unidirectional (B) Bidirectional (C) Multidirectional (D) None of these
ML *Ifes g —

(A) g3 (B) fayd (C) T2 (D) 90w @IeIBE 77
TRRIRIS ST it are—wit 575 —

(A) T Tt (B) fergedt (C) fafaersedr (D) B 9 Ere
The source of energy in ecosystem is

(A) ATP (B) Sunlight (C) DNA (D) RNA

TEOTT > Bex zrey —

(A) ATP (B) s (C) DNA (D) RNA
aiRRefde T wfteer @ g1 —

(A) ATP (B) GAeT fahor (C) DNA (D) RNA
Drinking ﬂuoride-containing water results in

(A) Fluorosis (B) Chlorosis (C) Minamata (D) Malaria
FAIRS-T ©1 (T 1 27 —

(A) Fraifm, (B) GG, (C) Rmist (D) =Tt
TANTSS o I GIer—sas T —

(A) TeIRTS R (B) FeiRTS R (C) =TT (D) 7lfRAT a1 3oy
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Indian Wildlife Protection Act was introduced in the year

(A) 1950 (B) 1972 (C) 2010 (D) 2018

SRS AT FIF B’ (¥ /e 2l7fe 7F —

(A) 1950 (B) 1972 (C) 2010 (D) 2018

ARATT U I HIA Hlad AR[Har —

(A) 1950 (B) 1972 (C) 2010 (D) 2018
Growing agricultural crops between rows of planted trees is known as

(A) Social forestry (B) Jhum (C) Taungya system (D) Agroforestry
(RS -l S| FICH FHo1 TLAMCAT A (P 0T —

(A) T FEE  (B) ;W (C) orgl *1=fS (D) FT¥e Fpyem
TEETH! e} 97 TR Edlas—at s —

(A) 9SS it (B) A (C) <R gomell (D) BIY arfHiast
The main atmosphere layer near surface of earth is

(A) Troposphere (B) Mesosphere (C) Ionosphere (D) Stratosphere
*JeeT RETH T IR LA -

(A) @EeAFEE (B) (eiFata (C) SRIFF= (D) ZrstfeEaE
Yedieh] ERITlD] e el ATl agavS e Aag & —

(A) Troposphere (B) Mesosphere (C) Ionosphere (D) Stratosphere

Both power and manure is provided by
(A) Nuclear plants (B) Thermal plants  (C) Biogas plants (D) Hydroelectric plants
@ *ife ¢ 7 T8 enid 3= —

(A) RS [y Seotne @ (B) ©isifRe

(C) T& 971 S (& (D) TR FH

fefaRaTaTe St w4 g4 <l §9 —

(A) URHTY] HIF (B) AU HIH (C) 1T WY IS (D) SicAfdeld §IH
Common energy source in Indian village is

(A) Electricity (B) Coal (C) Sun (D) Wood and animal dung
SIS Al s Tt 2eem -

(A) Rge (B) 7= (C) it (D) 5 @ 2 &)
AT TS ST g S 8 —

(A) faget (B) Prger ©) (D) TTSRT ST TYEDT Fel
Sacred groves are especially useful in

(A) Generating environmental awareness (B) Preventing soil erosion

(C) Year round flow of water in rivers (D) Conserving rare and threatened species
‘O (@@ (Sacred groves) (I RO FIS TAIN —

(A) AR oo I (B) o 40 effs3Fel

(C) e TSR 4T (D) 51 ¢ Reiwer i Ra=
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(A) TITaRT STl SIS (B) ¥&1d Jepeiep! AT

(C) TR TEPITGIHI TRTdD! oe (D) fARer &t Apeawa yoliged! wReore! fHik
Which of the following series is true about energy flow ecosystem?

(A) Producers—>Decomposers—Consumers  (B) Decomposers—Consumers—Producers

(C) Producers—>Consumers—Decomposers (D) Consumers—Producers—Decomposers

TEerE *fed 2ze RS (@ ARG AP —

(A) Teriins — e — A (B) Raes — 4ms — Teoim

(C) Tsims — AmE — Raes (D) AMF —> Tesiws — [ares
TRReR® domr SiteT gerEd! Mt frefeRad | vser 3 f3d & 2

(A) SUEH —> IUTCH —> ITHIET (B) 3TTEled —> SUMIRT —> IS
(C) SUGH —> ITHIHKIT —> JTHCH (D) SUHI —> IATad —> ATHUSH
Most stable ecosystem is

(A) Forest (B) Desert (C) Ocean (D) Mountain
TR IPRES A€ LT —

(A) SF (B) S=Feh (C) S (D) #&e

qa=<T Rer kRl o3 & —

(A) T (B) #HT (C) 9 (D) Tdw

Study of trends in human population growth and prediction of future growth is called
(A) Demography (B) Biography (C) Paleography (D) Psychology
TR IO ¢ SRR e TS SIACF 0 —

(A) CSTIRF (B) JAC&NF (C) #nferaait (D) FEETE
g ST giy o wisrgRe e B sy Ao —

(A) SEEREID! (B) Sita=t (C) w2 Rrciera s (D) A=
Scientific study of the interactions of organisms with the physical environment is called
(A) Ecosystem (B) Ecology (C) Environment (D) Trophic structure
2 ¢ T (ST AP AT NSRS ST A0 —

(A) IESH (B) IrERwi (C) === (D) AAFES 5157
o & Wife TafeR @ SRR T A —

(A) uiRRetfas @3 (B) wiRRerfcat (C) TR (D) gfte ==
In general, the Ecological pyramid always starts with the following at the base

(A) Decomposers (B) Producers (C) Consumers (D) None of these
Algere AgecEs PrRIfee @ e e oece «foe 21 -

(A) e (B) Testns (C) = (D) AT ICAIbE 77
AR gRReds ORI BT SRRy o g8 —

(A) SYECH (B) ST (C) SyHIaT (D) g1 g+ BISA

5 ' Turn Over




UG/CBCS/B.A./1st Sem./Environmental Studies/AECCENVS/2018

26.

27
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A population is a group of
(A) Individuals of a species (B) Spices in a Community

(C) Communities in an ecosystem (D) Individuals in a family

G 2L —

(A) geion Jie AUy 7R (B) Fr=mR ST iifed WuE
(C) ITS(TF WSS T2 (D) =ifia Sresfe fes AufE
SIS Y ' —

(A) T TSP Afdrigod! (B) VST HHIIHT USTiesh]
(C) uRReftiepar vser Fqerme! (D) uRaR®I =Afkies &I

The ‘Environment Protection Act’ was introduced in India in

(A) 1980 (B) 1986 (C) 2001 (D) 2010
STRCe “wAfie! Rl iR @ 27 o e —

(A) 1980 (B) 1986 (C) 2001 (D) 2010 d
HIRTTHT TATaRYT EREToT SR Siel 3o war —

(A) 1980 (B) 1986 (C) 2001 (D) 2010

Recycling refers to
(A) removal of resources

(C) reduction of water cycle
SR IS @RI —
(A) F™07d oA
YU—ashvT Recycling &7 Maegahar & —
(A) HIRTESATS BTTeY

(C) STo—Ieh T =gl <ara

The cause/causes of biodiversity loss is
(A) Habitat loss

(C) Over-exploitation of bio-resources
oG = IR T —

(A) ITIICE 2 (B) =& 2ont

St fafaerar a1 fagfae! g sror 8 -
(A) Ui IHBT BT

(C) 51 HugT! 31fde S

Acid rain is related to

(A) SO, (B) Oz

IS (Acid rain) @fbg 7 FooifRRe —

(A) SO, (B) Oz

FFTAYT FHRIT B —

(A) SO, (B) O,

(B) F9I00= SR 39R (C) S-S0 2%

(B) reuse of resources

(D) removal of garbage
(D) SR S2f7el

(B) HHEIEves T SUANT g
(D) BIERES BCrSq

(B) Poaching of wildlife
(D) All of these

(C) t&= F~oind Srojf&s e (D) a0 TR0

(B) g=gsiad! RBrer s &R
(D) wefiepT e
(C) Methane (D) Halogen compounds

(C) (fita™) Methane (D) Zene= (st

(C) Methane (D) Halogen compounds

r
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31. The main aim of Integrated Pest Management (IPM) is

(A) To destroy the harmful plants
(C) To destroy the weeds

RS (fE fTFE’ (IPM) 261 —

(B) To destroy the harmful insects
(D) To destroy the chemicals

(A) Flowa SRR o (B) oS IR A (C) AR A AL (D) AT T8 it
Uhihd dic FEe (IPM) T &0 o &l —

(A) BFIPRE dIeEeHl N g
(C) STl HTHETATs A< 1Y

(B) BHIBNS fHEses 9 T
(D) A ® TEeels A T

32. ‘Silent valley’ lies in the state of
(A) Bihar (B) Kerala (C) Tamilnadu (D) Goa
Hi2Cers Boerw (Silent valley) (T TS ST IR -
(A) Ram (B) Sifieieig. (C) = (D) et
Silent valley S T AR © —
(A) foEr (B) Tiffierrg (C) o (D) T
33. Coral reefs in India can be seen in
(A) Himalayan region (B) Andaman and Nicobar Island
(C) Goa (D) Karnataka
SRS 2REribE i (el T —
(A) B o (B) S 8 Weeima @t (C) Gi (D) T
ARTAT TEM G BISHT TS —
(A) BHTem B3 (B) a5+ ot e g 998
(C) Trar (D) B-iTesH
34. The source of oxygen in the atmosphere is
(A) Carbon cycle (B) Green plants (C) Water (D) Nitrogen cycle
QR S T L —
(A) T oF (B) 7% fgw (C) &= (D) =BT &
IRHATSHAHT AfRTTT BT S HT B —
(A) BT TH (B) AT Sefiess  (C) uril (D) ATSESIA =sh
35, Primary consumer is also called
(A) Herbivores (B) Carnivores (C) Omnivores (D) None of these
2T A S (@ =ies AiHS —
(A) TTSIE (B) SR (C) 7o (D) At7E @A 18
TTIfHe SUHIRITAg A —
(A) ITHERT (B) HIETERT (C) FdErT (D) 1 9 BIs
36.  An example of tertiary consumer is
(A) frog (B) snake (C) plant (D) insect
TOI AT (S1&IF (Tertiary Consumer) SHIZIS 201 —
(A) TS (B) (C) Sfem (D) coit
1121 7 Turn Over
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qCild Y HIGT BT STl SEEXTT & —
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38.

39.

40.

41.

42.
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(A) wTIaT (B) HM (C) Sgfs
Minamata disease is associated with

(A) SO, (B) Mercury (C) NO,
= e “FmiEy @b sess -

(A) SO, (Al wizorHzw) (B) &t
(C)NO, (FIRCEiCE BiZeTsizy) (D) pH

Minamata 9T =R E.ﬁ TP g 9fead & —

(A) SO, (B) URT (Mercury) (C) NO,

An example of in-situ conservation is

(A) Gene Bank (B) National parks  (C) Zoo

In-sity SR G0 Srerdel 2t —

(A) &= = (B) SIS SHpi (C) Pt
In-situ BT TSCT ISTEROT &

(A) ST <7 (B) T SEI (C) fafsararr
The number of Biodiversity Hotspot in India are

(A) 35 (B) 4 (C) 18
ST @ [Ty 256 (Biodiversity Hotspot) €& 3R a1 —
(A) 35 (B)4 (©) 18

WREHT S—S1d fafderar gewae (Biodiversity Hotspot) B —
(A) 35 (B) 4 (C) 18

An example of Biosphere Reserve in India is

(A) Nandankanan (B) Sundarban (C) Jaldapara
SRS AT R ax @6 Trorgel zea

(A) T (B) IwE<d (C) Temmi=ite!
HIRTHT HUB! TS IATER0T B —

(A) TP (B) §<vdd (C) STetgmurNT
The ‘Earth Summit’ was held in the year

(A) 1992 (B) 1990 (C) 1989

PN I (Earth Summit) R IR Sifoe 27 —

(A) 1992 (B) 1990 (C) 1989

Yedl S99 (Earth Summit) Bieel 9UaT Ry —

(A) 1992 (B) 1990 (C) 1989
Ozone hole is prominent in

(A) Equatorial area (B) Temperate zone (C) Antarctica
“STEI (I &6 Tro (v AF —

(A) e wiers (B) NfeATeIRe Se6ta1 (C) SyFOIHIT

8

(D) Pre—gaT

(D) pH

(D) pH

(D) Botanical garden

(D) Tfgn Swie :
(D) I &I

D) 11

(D) 11

(D) 11

(D) Buxa National Park

(D) 33 S Swpie

(D) I ST ST ;
(D) 2001

(D) 2001

(D) 2001

(D) Tropical area

(D) SFE ST
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43.

44,

45.

46.

47.

48.

IS @ T A B UE —

(A) 95T = (B) T &= (C) ST ieamT
The main gas responsible for ‘global warming’ is

(A) O (B) Halogens (C) CO,
‘GRS SRR - 47 Ty Wi 241w ST e —

(A) O, (B) YICETICET= (©) CO,
Global warming &I @ 93 ¥ G 74 TR © —
(A) O (B) BerorT (C) CO;

An example of renewable energy is

(A) Coal (B) Petroleum (C) Solar energy
A=A (Renewable) *Ifes @B Tnizzel zgem —

(A) T (B) CAIBIfETY (C) Gt
URHY] JOIT Pl SETERT & —

(A) PreeT (B) Usferam (C) ¥R Wit

Which animal is worshipped by Bishnois of Rajasthan?

(A) Tiger (B) Lion (C) Black buck
AEZCT [CH1R (Bishnois) 3 I &N sjeen w3 9

(A) 9 (B) P2 (C) Te= 2f5d

RISTRITS &I fawsilg (Bishnois) TS §RT G 93[ab! goTm TR —
(C) Fredl fZROT a1 977 (D) S

(A) 9191 (B) RE

An example of a radioactive substance is

(A) Arsenic (B) Iron (C) Thorium 234
GG (oW 2micelq Tz ZE -

(A) Sie (B) SR (C) R 234
TSaERT gaferdr TSer SarexT 8 —

(A) IS (B) B (C) Thorium 234

The main source of energy in a forest ecosystem is

(A) trees (B) consumers (C) animals
G0 IV AEeE ¥ 24 T 2ra —

(A) g (B) TSI (C) &

99 uIRRerfcres FomelmT SSie g i & —

(A) >TE® (B) SUHTeRT ©)

Development but not at the cost of environment is called
(A) sustainable development

(C) non-sustainable development (D) none of these
“HAfsicaeea FS T Tafe w97 T -
(A) RS Tafs (B) oA Tafs  (C) v Tnfe

9

(D) SwT Hfesefa v
(D) NO;

(D) NO;

(D) NO,

(D) Firewood

(D) &I 5o

(D) ISV

(D) Camel

(D) &

(D) SO,

(D) SO,

(D) SO,

(D) microorganisms
(D) S&R ¥R

(D) geAoifaes

(B) unsustainable development

(D) 9 (FICBE 77

L
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49.

50.

al.

52.

53,

54,

521

UATERUIATS BHI YRS g1 [arerens wis —

(A) ST farer (B) 3R fJprer (€)= <Y o (D) 1 9+ BrsH
The cause of Bhopal Gas Tragedy was

(A) CFC (B) DDT (C) MIC (D) None of these
oAIET AT TR TR —

(A) CFC (B) DDT (C) MIC (D) atw @ieie 97
AT YT FAAS] Bl BRI B85 —

(A) CFC (B) DDT (C) MIC (D) &1 uf B
The person who coined the term ‘ecology’ was

(A) Bufo (B) Earnest Haeckel (C) C.C Park (D) None of these
AT FPIeTer > YT PR —

(A) I (B) WIts @cdat (C) BB =i (D) 9T (FIABZ 7
‘ecology’ ¥1e& I AT BT B — L
(A) goT (B) 3RAE BHA ©) fa. ¥ urs (D) F1 ufr BIs
The intensity of earthquake is measured in

(A) Decibels (B) Linnean Scale (C) Richter Scale (D) Linear Scale
SRR Sl Tl =7 —

(A) SRR (B) fetferzs cxecet (C) F451 &= (D) ferfera caet
YIB! AT AT TS S B AR —

(A) SH9A (B) foiv ™ e (C) ReR o (D) faf =R Wbt
The percentage of nitrogen in air is

(A) 21.6 (B)24.3 (C)784 (D)27.8 h
AN FIRCBICSCAR =0T i) Zgeil —

(A)21.6 (B)24.3 (C) 784 (D)27.8

BTN SIS P BR&X Ued 576 —

(A)21.6 (B)24.3 (C) 784 (D) 27.8

Ozone layer is important because

(A) Sunlight cannot pass through it (B) Sunlight can pass through it

(C) UV rays can pass through it (D) UV rays cannot pass through it

STEI B @y O T @ —

(A) @3 ey ez o1 7 e “fea =t (B) @3 &g e 4 JM @ =i

(C) @3 ey T wife el 9f % e 7t (D) @3 ey Twed s @ea 9 @rs i =t
st FrefeRad FRIS 9gw@yer B —

(A) gIo! o1 goare fost dwen (B) gda! v ggare o 9os

(C) UV fHoEs ggqre 59 9ow (D) UV frvrees IgeEe 59 awsy

The process of energy transfer from one trophic level to another is called as
(A) Food web (B) Food pyramid  (C) Food chain (D) Trophic level

,
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56.

57.

58.

59.

60.
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T 2T = @ A B9 (A S D) W(E FENES 27 O 906 —

(A) AT B) AR PRIGE  (C) AW el (D) ¥y ¥F

I UihaTeTs & W B WET Ueel gt wRaTe Il gRe EIREH SH(P! RITIRY §76 —
(A) @™ ST B) ur fRif's (C) @Tew s (D) T Wi
Deserts harbour the following types of plants

(A) Hydrophytes (B) Epiphytes (C) Mesophytes (D) Xerophytes
TFCS (F 4HCE TfEw 2hel A ot et —

(A) 2REFIH (B) @f1=iZ5 (C) TIPS (D) CSTAIPIZG
FHYAAT B YRS ISAT U0 —

(A) Hydrophytes (B) Epiphytes (C) Mesophytes (D) Xerophytes
Mangrove plants have the following characters

(A) Pneumatophores  (B) Fleshy stems (C) Stolon (D) None of these
e S (4f#Ey 2 —

(A) HPT (B) ZeRre (C) GHIta (D) Gt7d (A 74
goxl gredpt fagar & —

(A) Pneumatophores  (B) Fleshy stems (C) Stolon (D) EE-*! LIERER]

A species confined only to a particular area is called as

(A) Epidemic (B) Endemic (C) Pandemic (D) None of these
¢ &S GG WA S s AR ol < = —

(A) aPrel (B) GCGHRRE (C) in=refe (D) Gt (AR 7
TSl A9y B3 U aarg 9 —

(A) TSfi® (B) 3vsfA® (C) W (D) B ufT g
The mega-biodiversity country is

(A) India (B) UAE (C) UK (D) Egypt

SI&14 Cafbear (Biodiversity) (%1 2gatt —

(A) ©iF® (B) UAE (C) UK (D)

god S Rfear W 337 7 —

(A) ¥RT (India) (B)g ¥ § (UAE)

(C) §gax 31feRTSd (UK) (D) frer <= (Egypt)

Algal Blooms are connected with
(A) Biomagnifications (B) Eutrophication  (C) Trophic levels (D) Producers

&= &S ST (Algas Blooms) 0% F=+i{® 2al —

(A) AERREEE  (B) SR (C) A=z (D) Sestwss
e oIS Bl FA TG B —

(A) SEATTHSIE  (B) SYSfbae (C) Tifthes Wi (D) STTEH
PANisa

(A) Primary pollutant ~ (B) Secondary pollutant (C) Tertiary pollutant (D) None of these
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RIICEIC

(A) 2R 77 (B) (Tl i3S (C)TRPMRI T (D) 9UE AT T

PAN 9=TTcl & T —

(A) wrafies Tguor (B) 7= Wg® (C) gftad ugy® (D) B ufsy g

61.  Which of the following is not true about HIV?
(A) It weakness the immune system
(B) It accelerates the spread of tuberculosis
(C) 1t is caused by a virus
(D) It is spread by mere physical contact
HIV @3 CFeg [ate @i 78y =71 ¢
(A) @ff ot ST JIBACE 7501 S (B) @b 7= @ R el w3

(C) T sizam sifoe st (D) afs RN ~iofa Wy Trew RaifFo =

fy=fafad 7= g7 e HIV IR A 85
(A) IH immune system EIE) g‘siﬁ g3
(B) THel BRI (tuberculosis) Pl TTfceTs IS
(C) AT AISRIDT BRI §F
(D) 3 AR ARRE TEERT Hiers
62.  Biodiversity is important because

(A) We depend on it for food and other items

(B) We enjoy it

(C) We depend on it for medicine

(D) All of these

G by wwgsy Pl —

(A) S A @ Siie) R g ey afbe Toie Freedie
(B) @it ST TS FCH

(C) &Fe &y @b Toig il fsa o

(D) aTHE FRF 0L,

39 fafdear g o9 DR Bl

(A)grﬁwaﬁmmﬁ?ﬁﬁaﬂﬁmﬁﬂﬁnﬁ
(B) THERT BH =8 AT Bl
(C) =T aitweiiepy foel T Feiv et
(D) SHT &
63. Carrying capacity 1s
(A) The number of individuals environmental carries
(B) The minimum number of individuals that environment can sustain

(C) The maximum number of individuals that environment can sustain
(D) None of these

1121 12 !
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)

64.

65.

66.

b7,

1121

3%+ FN@! (Carrying capacity) 20T —

(A) @6 s Toef & ¢ (Individuals) T2 FHCS A
(B) TN @ JT& @3 IRY! 96 AR 4159 209 21

(C) SitTox @ & @3 T G AR 419 F909 A

(D) GTnd PIAIDE 71

T8 & (Carrying capacity) 9+TTel & gf3ro

(A) URATHT HUH| AfdTeod! STTaEA

(B) AfdrTeod! o T

(C) TfeTew®! Iffead WAl Sl IRl =] Ahs

(D) R%T G uf BT

While travelling by bus, where will you throw the plastic wrapper from your packed food?
(A) Out of the window (B) Under the seat

(C) Beside the seat (D) Keep it in your bog and throw in dustbin
A T TR T QIS (AT AR #ACFCoR APHPR (T FG RN 2

(A) Bl M AR (B) FCoT O

(C) Fico= =Hie=t (D) e ALE @R AT CFBRCA L] (el
T AT e FANT TRY WIRed YO HEl Wa] U9

(A) Rasaiare aifeR

(B) fyeat 9%

(C) Raea! B3HT

(D) BRI IR ufs S dustbin AT WITH IS

CFCs are used as

(A) refrigerants (B) insulators (C) aerosol propellants (D) all of these
CFC Jo = —

(A) GRFEICS e (B) ZPITEA 22

(C) SRS (@NRTies B (D) TR FIF B

CFC &I W $8l 50 —

(A) XforeHr (B) 3=geiexHT (C) WTd FoNEdHH (D) HIrHT FeH T

An example of an abiotic component

(A) Plants (B) Soil (C) Animals (D) Bacteria
e #fieds Srieee ZeeTl —

(A) Tfew (B) =6 (C) & (D) TG
3rifa® TeHh BT TSl Sarexvl 8l

(A) 5 (B) AT ©) 7] (D) Sfrar]

The one-horned rhinoceros is now restricted to which State?

(A) Maharashtra (B) Gujarat (C) Assam (D) Uttar Pradesh
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68.

69.

70,

71.

72.

1121

&F =% Shely G (T [0S Fsm —

(A) T2=1g (B) @&@e (C) == (D) T3 2=

TE R ST sifgel voer e A ufiefia B :
(A) FERTSS (B) ToRId (C) 3mam (D) ST ¥e=I

All species on earth together with their environments eollectively comprise

(A) Lithosphere (B) Hydrosphere (C) Atmeosphere (D) Biosphere

TS Hae LSS O TS AT GE@ T T -

(A) feraiFea= (B) QiZruiFes (C) SoareaR (D) AcrTT

QA UBT He UoTEedls SHeesl IRaws] SKEl $F WAl AHRe 9uar it
TR

(A) TITHUSH (B) SiaAvsw (C) argFTse (D) StaHvSE
The place where nuclear disaster took place

(A) Washington (B) Chermobyl (C) Bhopal (D) London
(X G S TG WoeE —

(A) ST (B) G@EIRE (C) g (D) FS=

T XA S8l uRATY] e Wger R

(A) Washington (B) Chernobyl (C) Bhopal (D) London

The main energy source for the environment is
(A) Chemical energy (B) Bioelectric energy (C) Electrical energy (D) Solar energy

AR eluiw *fes Test g —
(A) Il =fE (B) I-2=wes *ife (C) Ry =& (D) Gz *If
GATIROTHT & Soil Ba g
(A) YNEE It (B) 9T fegifae swit (C) fRegfas o (D) 9 Swif

What is desertification?

(A) Conversion of forests into desert (B) Conversion of croplands into desert
(C) Conversion of grassland into desert (D) All of these

TR L 9

(A) TR e e (B) *PIgRR TFgRce wiey

(C) Pergfi srFgfire weites (D) GTre F DL

HOYHABIT BT B ?

(A) ITSITADT THHAAT AR (B) FEHAT 7Y Sur<R

(C) IrryfHeT FoEAT Tu=R (D) AT &

Which one of the following problems is not created by noise pollution?

(A) Diarrhoea (B) Hypertension (C) Deafness (D) Irritation
Feste @b = wee e W Al 2

(A) e (B) Tt b1 (C) ezt (D) ST
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ﬁmﬁ{ﬁaﬁ@ﬂﬂwﬁ&rﬁmaﬁw-@ﬂ—

73.

74.

q3.

76.

“ 77.

1121

(A) yxarell (Diarthoea) (B) S XqAM™ (Hypertension)

(C) &1 g (Deafness) (D) s = (Trritation)
trees shed their leaves during dry winters

(A) Evergreen (B) Deciduous (C) Coniferous (D) Thorn forests
st oA ~HICD = —

(A) o (B) CPTg (C) LT (D) 35% T&
SEEHe YEad Faered! Jiee fRY —

(A) FETIER (B) Srg-aTet (C) gftgsfc (D) BiST ST

Which one is nature’s cleaner?

(A) Consumer (B) Producer

(C) Symbionts (D) Decomposers and Scavengers

fre @ g fon AREET ?

(A) AMF B) St (C) Fr=2wo (D) Rres 8 Hieoe
yepfRrep! AHTT B B —

(A) ST (B) STED (C) |goidl (D) STTECH A STTATSD

Extensive planting of trees to increase forest cover is called

(A) Agroforestry (B) Afforestation (C) Deforestation (D) Social forestry
T e Trweey ARSI THRCAACE <01 —

(A) ST T (B) STRFETE*, (C) Te=TTET, (D) G 2

o SiTTer SSTEHT Ak @IS FeT T RIS 9D —

(A) By AT (B) @R (C) =T (D) | aTfeaT
Air pollution 1s severe n

(A) Metro cities (B) Industrial areas (C) Densely populated area (D) All of these
A e AT O —

(A) TR (B) s

(C) T TR} wee (D) 07 DR

ST 4Ty HgHUHIE® —

(A) FRTIRESH (B) alenfires BaEeHl

(C) 3ifEr STERE HYPT BATTH (D) Swja &

Animal dung 18 waste

(A) Biodegradable (B) Toxic ©) Non-biodegradable (D) Hazardous
2 T (T 2T IS —

(&) ERfee (B) R (€ w-SrRee (D) IF
TJEESD! HA HIER 8l

(A) o7 FRfEeE (B) F9g (C) sifas Afafreeia (D) WA
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78.  Green Revolution is associated with
(A) Aquaculture (B) Pisciculture (C) Agriculture (D) Sericulture
e [z 7 7 ol —
(A) ST A6 (B) % =510 (C) BT SRAW (D) G B
BRA Hifd! T B — :
(A) ATST AT (B) 7 Hadq @ (C) iy fra (D) EHETS! Rya
79.  Bears are usually hunted and killed for their
(A) Teeth (B) Skin (C) Nails (D) Internal organs
(F T Tel) OIS R 1 20 AP —
(A) e (B) oot © (D) STeeae! St
Ige! RIeR i g1 B4 RS [ TRs —
(A) STTHI AT (B) BTT®! AT
(C) 9T AFMT (D) =T (3M=IRa®) il aArfY
80. The complex network of inter connected food chains is called
(A) Trophic level (B) Food Web (C) Ecological Pyramid (D) Ecology Chain
A (@ e SIS T fofers 3@ —
(A) TP o3 (B) AW SR (C) IweifE PRINE (D) IEeilEs e
TehT DM Sed WeI—Edl DI fcel Acdd ofls & AD ?
(A) e wR (B) @@= STed
(C) uiRRerfas fuxifars (D) urRRexferes sraer

X
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